
48002105
Checklist / Manual de Montagem - Rear 
Bumper - Toyota LC79

Checklist / Fitting Instructions - Rear 

Bumper - Toyota LC79

Despiezas / Instrucciones de montaje -  

2h x 2

 
 Acessórios: ____ /____ /____  Peças/Compostos: ____ /____ /____  Artigo: ____ /____ /____  Embalagem: ____ /____ /____

x1

47001489

1 x1

47001488

2 x1

47001487

3 x1

47001486

4

x1

47001479

5 x2

47001233

6 x1

46005390

7 x3

45000462

8

Prf.Cab.Red.M6x20

x3

45000074

9

Fêmea Freiada M6

x8

45000070

10

Prf. Sx. M10x30x1,25

x12

45000067

11

Prf. Cb. Sx. M12X35

x20

45000066

12

Fêmea Freiada M12

x3

45000050

13

Anilha M6x15x1,6

x40

45000042

14

Anilha M12

x20

45000039

15

Anilha M10

x8

45000037

16

Prf. Cb. Sx. M12x30

x6

45000017

17

Fêmea Freiada M10

x6

45000015

18

Prf. Cb. Sx. M10x25

4 19-17-13

Toyota Land cruiser 
Pick - up 4x4 HZJ 79 - 
Cabine Dupla (2012- )

Toyota Land Cruiser 
Pick-Up 4x4 HZJ 79 
(07- )

Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt1/6 21-05-2014



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt2/6 21-05-2014



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt3/6 21-05-2014



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt4/6 21-05-2014



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt5/6 21-05-2014



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt6/6 21-05-2014


